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AS ECONOMICS COMPONENT 2

All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

1 (a) (i) 291 1.8 0.4 2 91.1 99.3
1) | 293 | 66 | 21 | 10 | 663 | 100 |
1(@G) | 293 | 36 [ 15 | 6 | 60 | 100 |

99.7

24 | 15 | 4 | 606 | 973
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question

Total

1(a) (i)

Assuming that the eMoov forecast in Extract 2 is correct,
calculate the predicted average price of a house in areas affected
by the third runway following the Government’s announcement

AO2: 2 marks

20% of £410,000 = £82 000 (1)
£410 000 - £82 000 = £328 000(1)

Give 2 marks for statement of correct answer (£328 000)
1 mark for answer with minor error such as missing £.

1(a)
(ii)

Using a supply and demand diagram, discuss how likely it is that house prices
will fall by 20% in affected areas over the next few years.

(8]

AO1 AO2 AO3 AO4
Band
2 marks 2 marks 2 marks 2 marks

2 2 marks 2 marks 2 marks 2 marks
Good Good application Good analysis Good evaluation
understanding

Context is well Thorough Clear two sided

Correct diagram used on both sides | explanation of why | answer which
showing demand of the discussion house prices would | judges how likely
falling to the left, be expected to fall, | house prices are to
fully labelled with clarity over fall

why house prices

will fall in the real

world.

And/or

Developed

analysis of

diagram in terms of

how prices do or

don't fall.

1 1 mark 1 mark 1 mark 1 mark
Limited Limited application | Limited analysis Limited evaluation
understanding

Context is used Answer links a fall | Two sided answer
Diagram with only on one side of | in demand to a fall | which qualifies the
significant labelling | the debate in price using the argument that
errors diagram prices will fall but
does not look at
how likely they are
to fall.

0 0 marks 0 marks 0 marks 0 marks
No valid No valid No valid analysis | No valid evaluation
knowledge application






Indicative content:
AO1

Allow diagrams that also have increase in supply if explained via expansion in housebuilding
or people selling to move out, but must have fall in demand for any credit.

ce o
houses

AO2

Noise and air pollution will mean fewer people want to move into the area/people will sell to
get away.

But the effect may only be temporary — everyone has known about the possibility of
expansion

Supply in the area may fall if houses are demolished for construction

London’s economic growth may mean that demand doesn’t fall

Heathrow’s growth may create more demand for housing in London generally

AO3

Demand for housing will fall as a result of the AO2 factors, creating excess supply of houses
on the market leading to a lower equilibrium price.

People trying to sell houses will be unable to sell them, meaning that they will have to reduce
their selling price/ buyers will be in a stronger negotiating position and will be able to force
down prices.

AO4

There are lots of AO2 factors suggesting that the fall may only be temporary or not present
at all — rising demand in London generally and so on.

The key for a Band 2 response is that a reasoned judgement is arrived at — how likely is it
that prices will fall. Hence the two sides are balanced against one another and there is a
direct, explained answer to the question.

Allow any other valid points or references.
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Sticky Note

Correct answer for 2 marks




Sticky Note

The answer has a correct diagram, showing demand shifting to the left following the announcement of the new runway; this is worth AO1: 2. There is some use of context, with some reference to the negative externalities and pollution close to the runway, but this is relatively limited use given the amount of stimulus that was available, making AO2: 1. There is some development of the argument as to why house prices will fall, but this is relatively superficial as is use of the diagram, making AO3: 1 (limited analysis). Finally, there is some limited evaluation shown in the final paragraph, where the answer discusses the idea that houses are a necessity, therefore questioning how far house prices will fall. This isn’t developed at all, making for limited evaluation (1 mark). This gives a total of 5/8 overall.
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Sticky Note

Correct number but missing units for 1 mark




Sticky Note

The answer has a correct diagram, which in this case has two elements to it. However, the key is the initial fall in demand from D1 to D2 for AO1: 2. The case is used throughout on both sides of the discussion (externalities, new jobs and so on) meaning that it is worth AO2: 2. Throughout the answer, there is also a clear focus on house prices and whether they will rise or fall. This is well explained in terms of the supply and demand model and there is a clear analysis of how prices are determined. This was therefore worth ‘good’ analysis for AO3: 2. Finally, the answer is highly evaluative; they are aware that the plans aren’t new and that prices already reflect that. They also use the map to point out that the supply of housing may be reduced by the construction of the runway, which is a clever idea and well developed, making for ‘good’ evaluation. This gave a total of 8/8.
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Sticky Note

Correct answer for 2 marks




Sticky Note

The main weakness of this script is that it ignores the key command word in the question and fails to discuss. As a result, they get 2 marks for an appropriate diagram, but then they use the case superficially on only one side of the debate (air and noise pollution) for limited AO2 (1 mark) and then use the diagram to explain the fall in prices but without any real development as to why prices fall for limited analysis (1 mark) making a total of 4/8.











1.

EXTRACT 1: THIRD RUNWAY AT HEATHROW CLEARED FOR TAKEOFF
The government has approved a third runway at Heathrow to expand UK airport capacity.

Proposed new runway at Heathrow

LONDON

1km

0.5miles . .
BE Source: Airport Commission

el .
===New M25 tunnel

Transport Secretary, Chris Grayling, said the “truly momentous” decision would support trade and
create jobs. The Department for Transport said a new runway at Heathrow would bring economic
benefits to passengers and the wider economy worth up to £61bn and create as many as 77 000
additional local jobs over the next 14 years.

Heathrow Airport said the expansion would allow it to offer more direct flights to UK destinations as
well as up to 40 new cities abroad such as Wuhan in China, Osaka in Japan and Quito in Equador.
Air industry analysts also said that unless the third runway goes ahead, the fact that Heathrow is
already at full capacity would lead to an average £200 increase in the price of a return flight in today’s
prices within a decade.

Sadig Khan, the Mayor of London, however, said that expanding Heathrow was the wrong decision
for both London and the UK.

“There are more people affected by noise because of Heathrow than people affected by the airports
in Paris, Amsterdam, Frankfurt, Munich and Madrid combined,” he said. “The air in London is a killer.
It makes you sick and it’s unlawful.”

Greenpeace UK chief, John Sauven, also said a third runway at Heathrow would increase air pollution
and “be a waste of time, money and lives”.

The issue has split the government, with Foreign Secretary Boris Johnson saying a third runway
was “undeliverable”; the implication being that the decision would be resisted by local councils and
residents meaning millions of pounds being spent on legal fees. Industry analysts also suggest that
the project will require at least £11bn of government money if it is to become a reality, although the
government claims that the cost will be closer to £5bn.

Other analysts have pointed out that with unemployment in and around London at a historic low,
finding the workforce to complete these projects could well be a challenge, requiring an influx of
overseas workers and running the risk of creating significant inflationary pressures in the South East,
reducing the forecasted benefits. Likewise, the risk to London’s economy as a result of the UK’s
decision to leave the EU makes the benefits of the expansion harder to quantify.






EXTRACT 2: THE LONDON HOUSING MARKET

The Government has given the go-ahead for the third runway, and if there’s one group of people
who won’t be happy about it, it's the people living nearby.

Estate agents eMoov think the decision could lead to a 20% drop in house prices in the area due to
the noise and air pollution that the project will bring.

Others argue that any effect will be temJ)orary at most. TheJ)ossibiIity of Heathrow expansion has
been known about for over 40 years and house prices alreaqy reflect this. In any case, the London
housing market has been extremely strong as a result of good economic performance — London
is forecast to grow more than twice as fast as the rest of the UK over the next 5 years — and that’s
before the effects of Heathrow are taken into account.

With the average house price in affected areas at £410 000, there is some hope that the decision
might result in more affordable housing in London, something that has been a long time coming.

EXTRACT 3: FORECAST PASSENGER GROWTH AT HEATHROW

(Assuming no supply constraints): 2016 numbers = 70 million passengers per year

Index of forecast passenger growth at Heathrow
(2010 = 100) (base year)
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(a) (i) Assuming that the eMoov forecast in Extract 2 is correct, calculate the predicted
average price of a house in areas affected by the third runway, following the
Government’s announcement. [2]

(i)  Using a supply and demand diagram, discuss how likely it is that house prices will
fall by 20% in affected areas over the next few years. [8]
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1(c) (ii) Using a supply and demand diagram, explain how the construction of
a third runway at Heathrow is expected to prevent a £200 increase in
the price of a return flight. [6]
AO1 AO3
Band
2 marks 4 marks
4 marks
Excellent analysis
Full explanation which uses the diagram to
explain how the new runway capacity will
help to meet the increase in demand and
therefore prevent air fares from rising — there
is direct reference back to the question.
2 2 marks 3 marks
Good understanding Good analysis
Correct diagram showing Full explanation which uses the diagram to
demand and supply both explain how both demand and supply factors
shifting to the right. will have an impact on prices.
1 1 mark 1-2 marks
Limited understanding Limited analysis
Di howi | An answer which explains why air fares will
rﬁ%ra”t] SthOWI_n%tsur)pdy not rise via an increase in supply, but fails to
Sh' N9 % tﬁ ngth » O _f|.agre]dm make clear that there is an underlying
Is L;J\Il\;!ng oth with sighiicantly | increase in demand which the greater
abeiling errors capacity will help to meet. Bottom band
answers will additionally not make reference
to the diagram.
0 0 marks 0 marks
No valid diagram No valid analysis

Indicative content:

AO1






AO3

Demand is rising in the UK, so the increase in capacity is necessary to prevent it — in the
absence of an increase in supply, the excess demand would drive up air fares as airlines
need to ration tickets.

The increase in capacity will create more competition between airlines, therefore making it
more difficult for air fares to increase because excess demand will be eliminated.

Band 2 answers will be likely to look at what would have happened without an increase in
capacity and then to explain how the increased capacity would have forestalled the increase.
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Sticky Note

The answer has both the increase in demand expected over the years and also the increase in capacity to meet it, meaning that there is AO1: 2 for the diagram. The analysis is strong – the answer firstly shows what would happen in the absence of an increase in supply and explains how price wold rise to P2. The answer then explains how the increase in supply will allow Heathrow to ‘cope’ with the increased demand and ‘prevent the £200 price increase’. This is a very well developed analysis of the questions and was worth ‘excellent’ analysis for AO3: 4 giving a total of 6/6.
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Sticky Note

The diagram, although badly drawn, has the increase in demand and the increase in supply, making AO1: 2. It then goes on to explain that Heathrow is at capacity and that therefore the increase in demand would cause prices to rise. This is then linked back to the diagram. The answer then goes on to explain that the increased capacity would shift supply, allowing the number of passengers to expand from Q2 to Q3, preventing the increase in price. This was in the end awarded 4 AO3 marks, but it is a marginal decision to go for 4 rather than 3 based on the fact that they really are trying to analyse the situation at Heathrow.
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Sticky Note

The answer only shows the increase in supply, not how the increase in supply will meet the increase in demand, making AO1: 1. There is then some limited development of the price mechanism, but without very much depth of development for AO3: 1 making a total of 2/6.











1.

EXTRACT 1: THIRD RUNWAY AT HEATHROW CLEARED FOR TAKEOFF
The government has approved a third runway at Heathrow to expand UK airport capacity.

Proposed new runway at Heathrow

New north-west runway
|G

LONDON

= g :
=== New M25 tunnel

1km

0.5miles , .
BEE Source: Airport Commission

Transport Secretary, Chris Grayling, said the “truly momentous” decision would support trade and
create jobs. The Department for Transport said a new runway at Heathrow would bring economic
benefits to passengers and the wider economy worth up to £61bn and create as many as 77 000
additional local jobs over the next 14 years.

Heathrow Airport said the expansion would allow it to offer more direct flights to UK destinations as
well as up to 40 new cities abroad such as Wuhan in China, Osaka in Japan and Quito in Equador.
Air industry analysts also said that unless the third runway goes ahead, the fact that Heathrow is
already at full capacity would lead to an average £200 increase in the price of a return flight in today’s
prices within a decade.

Sadiq Khan, the Mayor of London, however, said that expanding Heathrow was the wrong decision
for both London and the UK.

“There are more people affected by noise because of Heathrow than people affected by the airports
in Paris, Amsterdam, Frankfurt, Munich and Madrid combined,” he said. “The air in London is a killer.
It makes you sick and it’s unlawful.”

Greenpeace UK chief, John Sauven, also said a third runway at Heathrow would increase air pollution
and “be a waste of time, money and lives”.

The issue has split the government, with Foreign Secretary Boris Johnson saying a third runway
was “undeliverable”; the implication being that the decision would be resisted by local councils and
residents meaning millions of pounds being spent on legal fees. Industry analysts also suggest that
the project will require at least £11bn of government money if it is to become a reality, although the
government claims that the cost will be closer to £5bn.

Other analysts have pointed out that with unemployment in and around London at a historic low,
finding the workforce to complete these projects could well be a challenge, requiring an influx of
overseas workers and running the risk of creating significant inflationary pressures in the South East,
reducing the forecasted benefits. Likewise, the risk to London’s economy as a result of the UK’s
decision to leave the EU makes the benefits of the expansion harder to quantify.






EXTRACT 2: THE LONDON HOUSING MARKET

The Government has given the ?ﬁ)-ahead for the third runway, and if there’s one group of people
who won’t be happy about it, it's the people living nearby.

Estate agents eMoov think the decision could lead to a 20% drop in house prices in the area due to
the noise and air pollution that the project will bring.

Others argue that any effect will be temé:)orary at most. The possibility of Heathrow expansion has
been known about for over 40 years and house prices already reflect this. In any case, the London
housing market has been extremely strong as a result of good economic performance — London
is forecast to grow more than twice as fast as the rest of the UK over the next 5 years — and that’s
before the effects of Heathrow are taken into account.

With the average house price in affected areas at £410 000, there is some hope that the decision
might result in more affordable housing in London, something that has been a long time coming.

EXTRACT 3: FORECAST PASSENGER GROWTH AT HEATHROW

(Assuming no supply constraints): 2016 numbers = 70 million passengers per year

Index of forecast passenger growth at Heathrow
(2010 = 100) (base year)
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1c (i) Using a supply and demand diagram, explain how the construction of a third runway
at Heathrow is expected to prevent a £200 increase in the price of a return flight.

[6]
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2 (f)

Using an appropriate diagram and with reference to the data, evaluate the
economic effects of UK tariffs being imposed on products imported from the

rest of the EU. [10]
AO1 AO2 AO3 AO4
Band
2 marks 2 marks 2 marks 4 marks
4 marks
Excellent
evaluation
The answer
comes to a
reasoned
judgement about
the overall impact
of the tariffs.
Evaluative points
are generally well
developed.

2 2 marks 2 marks 2 marks 3 marks
Good Good application Good analysis Good evaluation
understanding

Good application Well-developed A well-developed
Award 2 marks for | of the context in explanation of counter-argument
a correct tariff terms of some of the /judgement is
diagram that is the effects of UK impacts. present.
correctly used as tariffs on EU
part of the answer. | imports. UK

specific impacts

are well developed

1 1 mark 1 mark 1 mark 1-2 marks
Limited Limited application | Limited analysis Limited evaluation
understanding

Answer has some | Some points have | Two sided answer,
Award 1 mark for | reference to the been developed, but counter-
diagram that has specifics of the but depth is arguments have
key features scenario but the lacking limited
missing or that is real-world effects development.
not used as part of | are limited in
the answer. extent

0 0 marks 0 marks 0 marks 0 marks
No valid No valid No valid analysis No valid
understanding application evaluation






Indicative content:

AO1

Price
A
S (domestic)

P2 World Supply - ta
| World Supply
P1 - e |
i .
| D (domestic)
a1 Q4 Qg Q31 @ Quantity

AO2

Inflationary effects may be made worse by the fall in the exchange rate

Domestic businesses already face rising producer prices. Tariffs will make these effects
even worse.

Collapse in business confidence and investment made worse.

Singapore has flourished in a free trade environment — Patrick Minford etc.

AO3

Reduced imports/improved UK balance of payments (reference to the diagram)

Increased output, profit and employment in UK firms (increased producer surplus shown in
the diagram).

Protection for strategic/growing industries.

Increased tax revenue (reference to the diagram)

Increased AD creating positive multiplier effects

AO4

Retaliation by EU members

Higher consumer prices (loss of consumer surplus reference to the diagram), cost push
inflation.

Welfare loss/misallocation of resources (reference to the diagram)

UK firms may not have the capacity to take up the higher domestic demand.

Overall effects depend on the size of the tariffs and how extensive they are.

Tariffs only apply to EU goods other countries’ goods would not be affected.

This policy is only possible ifiwhen the UK leaves the EU.

Singapore has flourished in a free trade environment.

This is a reversible answer.

Allow any other valid points or references.
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Sticky Note

The answer has a correctly drawn tariff diagram, but the diagram is not used anywhere in the answer; it sits in splendid isolation and as such cannot demonstrate ‘good’ understanding, making AO1: 1. The answer could also be an answer to any question about tariffs rather than the specific case of the UK imposing tariff on the rest of the UK and therefore no application marks were awarded. The analysis of the case for is relatively well-developed limited, explaining that the UK government will get tax revenue and that domestic producers will be able to sell more at a higher price – the effects have not been very well-developed but the answer was considered to be just good enough for AO3: 2. The evaluation, however, is quite extensive and well-developed. The answer lacks an overall answer to the question in terms of a final evaluation, but there are some well-developed objections to the imposition of tariffs, which gave the answer good evaluation for AO4: 3, making a total of 6 overall.
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Sticky Note

This answer contains an accurate diagram with some assertions about it, but no real answer to the question set. The diagram is used as part of the answer, allowing for AO1: 2, but there is no use of the context at all, meaning that there were no application (AO2) marks awarded. The answer is one-sided, arguing that tariffs will only be beneficial, meaning that no evaluation marks could be awarded, so AO4: 0. Finally, the analysis rests on some assertions about the impact on imports and domestic producers and some incorrect explanation of the impact on consumer surplus (conflating it with producer surplus). Taken as a whole, this was judged to be worth limited analysis for AO3:1, making a total of 3/10.
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Sticky Note

This answer was a compact but effective analysis of the theoretical effects of the tariff in the context of the case and was a very good example of what an AS level candidate could be expected to achieve. The diagram is well-handled and accurate and forms an integral part of the answer, therefore being worth AO1: 2. The analysis of the impacts on domestic producers and the domestic government is convincing for ‘good’ analysis (AO3: 2) and the counter-argument is both effective and rooted in the context of the case – there are several points at which the answer talks about the inflationary impacts on both consumers and firms’ competitiveness and the growing public support. The counter-arguments is well developed and the answer comes to a final conclusion which builds from the answer itself, not just stuck on as an after-thought. Hence the answer was judged to have shown ‘excellent’ evaluation for AO4: 4, making a total of 10/10 overall.











10

15

2. HIGHER OIL PRICE AND WEAKER POUND START TO PUSH UP INFLATION
13 September 2016

Official figures today will show inflation rising for a third consecutive month as higher oil
prices and the weaker pound (Figure 1) start to push up prices. Consumer price inflation hit
0.8% in August 2016, the highest since November 2014. The Bank of England expects prices
to be growing at almost 2% and climbing by the middle of 2017 increasing pressure for an
interest rate rise.

Evidence of growing inflation has also been seen in Office for National Statistics (ONS) data.
The ONS believes that production costs will rise by 8.1% on an annual basis, the highest
since December 2011. These are seen as an early indicator for inflation, as businesses
have to absorb rising costs or pass them on to consumers. Production costs are soaring
because of the fall in the value of the pound, down by 10% since the Brexit vote on the UK’s
membership of the EU on the 23" June.

Figure 1

Value of the pound
How many dollars £1 buys
1.55

1.50 '

1.45

1.40

1.35 M

1.30
Mon | Tue | Wed ' Thu ! Fi | Mon |

20 Jun 21 Jun 22 Jun 23 Jun 24 Jun 27 Jun

B]B)
Source: Bloomberg-data as of 11.27 BST. MON 27 June

The Bank of England’s Monetary Policy Committee cut interest rates to 0.25% from 0.5%
in August 2016 as well as providing the commercial banks with £100bn of cheap funding.
Business confidence is at a four-year low following the Brexit vote, with the outlook for demand,
employment and investment weakening across all sectors of the economy. However, this
relaxed monetary policy may have to be reversed if inflation takes hold and rises above its
target of 2%; then interest rates would be likely to rise.
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The UK's vote to leave the EU means that goods coming into this country from EU member
states could be subject to tariffs which could also push up prices. However, supporters of
Brexit think that the EU will be keen to sign a free trade deal with the UK as some EU member
states, especially Germany, have a trade surplus with the UK. Theresa May, the British Prime
Minister, says she wants to turn post-Brexit Britain into a “global leader in free trade”. Indeed
many supporters of Brexit want to see the UK copy the so called “Singapore model” including
Patrick Minford the economic advisor to former Prime Minister, Margaret Thatcher. Minford,
who is a leading supporter of Singapore’s tariff-free trade said “They got rid of protectionism
and have flourished as one of the world’s most free market economies.”

However, the global trading system has never looked under greater strain and protectionist
forces are on the rise everywhere. In the past year global public opinion has swung against
free trade putting pressure on governments to stop further moves towards freer trade.

Source: The Times 13th September 2016 (adapted)





2 (f) Using an appropriate diagram and with reference to the data, evaluate the economic
effects of UK tariffs being imposed on products imported from the rest of the EU.  [10]











